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QUESTION 1

A customer has a company-wide power outage scheduled and needs to gracefully power off a 2-node cluster. 

In this scenario, which of two steps should be performed? (Choose two.) 

A. Use the halt -node * -skip-lif-migration-before-shutdown true -inhibit-takeover true command. 

B. Invoke an AutoSupport message to indicate a planned maintenance time. 

C. Use OnCommand System Manager to halt the controllers. 

D. Use the halt -node * command. 

Correct Answer: AD 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2492713 

 

QUESTION 2

You want to replicate all volumes of an SVM, including the SVM\\'s configuration data, to another cluster on an hourly
schedule. 

Which action should you perform to accomplish this task? 

A. Configure SVM disaster recovery between the two SVMs. 

B. Configure SyncMirror between the two clusters. 

C. Configure SnapMirror replication for the volumes with a relationship type of DP. 

D. Configure SnapMirror replication for the volumes with a relationship type of XDP. 

Correct Answer: A 

 

Reference: https://library.netapp.com/ecm/ecm_get_file/ECMLP2496254 

 

QUESTION 3

Two end-users are both connecting to the same SMB share, but end-user A sees different files and folders than end-
user B. 

Which statement is correct in this scenario? 

A. Access Based Enumeration (ABE) explains this behavior. 

B. NetApp Storage Encryption (NSE) explains this behavior. 

C. End-user A is authenticating with NTLM. 
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D. NetApp Volume Encryption (NVE) explains this behavior. 

Correct Answer: C 

 

QUESTION 4

You are adding an additional node to a single-node cluster. 

Which of the actions should be performed after this upgrade? (Choose two.) 

A. Verify that HA is enabled. 

B. Verify that epsilon is not assigned. 

C. Verify that epsilon is assigned. 

D. Verify that HA is disabled. 

Correct Answer: CD 

 

QUESTION 5

Users are experiencing Kerberos authentication problems when attempting to access CIFS shares on the AcmeFS01
SVM. However, users are able to access shares hosted on Windows servers. You verify that network connectivity,
between the SVM and the domain controllers, is working correctly. 

What should you do to troubleshoot the authentication issue? 

A. Ensure that the time on the ONTAP cluster is correct. 

B. Verify that the users\\' computers can resolve DNS hostnames. 

C. Verify that the users\\' computers can ping the SVM data LIF. 

D. Verify that the SVM data LIF is on its home port. 

Correct Answer: B 
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